
gastroparts@gastroparts.com

tel. +48 56 657 00 66

fb.com/gastroparts.global

GASTROPARTS.COM

Universal Catalogue › 

Арматура присоединительная

Connection 
fittings
Anschlussarmaturen

Grifos de conexión

Raccords de connexion

Raccordi di collegamento

Armatura przyłączeniowa

[EN]

Water Technology ›

[DE]

[ES]

[FR]

[IT]

[PL]

[RU]



221

angle valves. 222
pipe aerators. 222
screw pipe fittings. 222
pipes. 223

12connetion fittings



12

co
nn

et
io

n 
fit

tin
gs

5 6
fig. Part No. description inlet outlet

5 5400431 angle valve 1/2” 3/8” (ø10mm)       

6 5432802 angle valve 1/2” 3/8” (ø10mm)       
1with in-line particle filter   2self-sealing   

7 8
fig. Part No. description inlet outlet

7 540041 combination angle valve 1/2” 3/8” (ø10mm) + 3/4”

8 543286 angle valve 3/4” 1/2”               

8 543287 angle valve 3/4” 3/4”               

1 543282 compression fitting 3/4” 15

1
technical data:
material chrome-plated brass

fig. Part No. description TS tube ø 
(mm)

1 543275 screw-in nipple 3/8” 10

1 543276 screw-in nipple 3/8” 12

1 540050 screw-in nipple 1/2” 10

1 543277 screw-in nipple 1/2” 12

technical data:
material chrome-plated brass

description TS tube ø 
(mm)

screw pipe fitting 3/8” 8 

screw pipe fitting 3/8” 10

screw pipe fitting 1/2” 12

screw pipe fitting 3/4” 15

technical data:
material chrome-plated brass

description TS tube ø 
(mm)

elbow screw joint 3/8” 8 

elbow screw joint 3/8” 10

elbow screw joint 1/2” 12

technical data:
material chrome-plated brass

description TS tube ø 
(mm)

T-piece 3/8” 8 

T-piece 3/8” 10

T-piece 1/2” 12

1
technical data:
material chrome-plated brass

fig. GEV No. description TS

1 540046 Y-piece 1/2” ET - 1/2” IT - 1/2” IT

222 Pełną ofertę części zamiennych znajdziesz na gastroparts.com

connetion fittings
angle valves

1 2
fig. Part No. description inlet outlet

1 540095 angle valve 3/8” 3/8” (ø10mm)       

1 540042 angle valve 1/2” 3/8” (ø10mm)       

2 540601 angle valve 1/2” 1/2”               

3 4
fig. Part No. description inlet outlet

3 543005 angle valve 1/2” 1/2”               

4 548544 angle valve 1/2” 1/2”               

4 548623 angle valve 1/2” 3/4”               

4 548633 angle valve 3/4” 1/2”               

4 548634 angle valve 3/4” 3/4”               

9
fig. Part No. description inlet outlet

9 5432701 auxiliary connection valve 3/4” 2x 3/4”            
1with backflow preventer   

pipe aerators

1 2
fig. Part No. description

1 540073 pipe aerator inlet 1/2“ outlet 1/2“ approval DVGW

2 540039 pipe aerator inlet 3/4“ outlet 3/4“ approval DVGW

screw pipe fittings

1
technical data:
material chrome-plated brass

fig. Part No. description TS tube ø 
(mm)

1 540057 compression fitting 3/8” 8 

1 540058 compression fitting 3/8” 10

1 540059 compression fitting 3/8” 12

1 540060 compression fitting 1/2” 10

1 540061 compression fitting 1/2” 12

1 543281 compression fitting 1/2” 15

1
fig. GEV No.

1 540047

1 540048

1 540049

1 543283

1
fig. GEV No.

1 540051

1 540052

1 540053

1
fig. GEV No.

1 540054

1 540055

1 540056

angle valves/pipe aerators/screw pipe fittings

https://gastroparts.com/en/item/angle-valve-inlet-1-2-outlet-1-2-543005
https://gastroparts.com/en/item/combination-angle-valve-inlet-1-2-outle-540041
https://gastroparts.com/en/item/compression-fitting-thread-3-8-tube-o-8-540057
https://gastroparts.com/en/item/screw-in-nipple-thread-3-8-tube-o-10mm-543275
https://gastroparts.com/en/item/3-8-angle-screwdriver-540052
https://gastroparts.com/en/item/tee-t-fixing-1-2-hose-dia-12mm-chrome-540056


12

co
nn

et
io

n 
fit

tin
gs

223

1
technical data:
material chrome-plated brass

fig. Part No. description TS tube ø 
(mm)

1 540047 screw pipe fitting 3/8” 8 

1 540048 screw pipe fitting 3/8” 10

1 540049 screw pipe fitting 1/2” 12

1 543283 screw pipe fitting 3/4” 15

1
technical data:
material chrome-plated brass

fig. Part No. description TS tube ø 
(mm)

1 540051 elbow screw joint 3/8” 8 

1 540052 elbow screw joint 3/8” 10

1 540053 elbow screw joint 1/2” 12

1
technical data:
material chrome-plated brass

fig. Part No. description TS tube ø 
(mm)

1 540054 T-piece 3/8” 8 

1 540055 T-piece 3/8” 10

1 540056 T-piece 1/2” 12

1
technical data:
material chrome-plated brass

fig. Part No. description TS

1 540046 Y-piece 1/2” ET - 1/2” IT - 1/2” IT

2
technical data:
material chrome-plated brass

fig. Part No. description TS

2 542239 Y-piece 1x 3/4” IT / 2x 3/4” ET    

1
technical data:
material chrome-plated brass

fig. Part No. description TS tube ø 
(mm)

1 540044 wall base 3/8” 10

1 540045 wall base 1/2” 10

pipes

1
fig. Part No. description ø 

(mm)
version Qty 

(m)

1 540067 copper pipe 8 chrome-plated 5

1 540068 copper pipe 10 chrome-plated 5

1 540069 copper pipe 12 chrome-plated 5

screw pipe fittings/pipes

https://gastroparts.com/en/item/3-8-angle-screwdriver-540052
https://gastroparts.com/en/item/tee-t-fixing-1-2-hose-dia-12mm-chrome-540056
https://gastroparts.com/en/item/y-piece-thread-1x-3-4-it-2x-3-4-et-c-542239


GASTROPARTS.COM

© 2020 Gastroparts Sp. J. All rights reserved.


